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Sub-Section Number: 1
Sub-Section Id: 335472213
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354727031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT a natural region of Madhya Pradesh? | Fgiai@d # & &9 @1 0 S &7 Wi ia® &=

Correct : 1 Wrong : 0

Options :

1. # The Plateau of Central India | A YRT FT ISR

2. ¥ The Western Plateau | UEaHT 131

3. # The Satpura and Maikal Region | GaY2T 3 AaTe &5
4. ¥ The Narmada-Sone Valley | FHgT-8I= €TaT

Question Number : 2 Question Id : 3354727032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What field has the eminent Indian scientist, Asima Chatterji, contributed to? | YR & Withkg WA 19 SaTiwd ST
et o Tope o ® e e g7

Correct : 1 Wrong : 0

Options :

1. ¢ Natural products chemistry | Wgid® JeU1g TaTaT
2. ® Polymer chemistry | Sge® @Ta

3. # Chemical evolution | TERIH® fd@ma

4. #® Nuclear physics | FTiH@ WiddT

Question Number : 3 Question Id : 3354727033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Chief Justice of India acted as the President of India? | YRq  fored geg ~ammeitsr & 9Ra & Tguid & &0 § &

Correct : 1 Wrong : 0

Options :

1. ¥ K.N. Wanchoo | %04, @ig

2. ® K. Subba Rao | & ear d

3. ¥ M. Hidayatullah | U8, RErgear

4. ¥ PR Gajendragadkar | Ul TelgTEwT
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Question Number : 4 Question Id : 3354727034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘United Nations Day’ is celebratedon _____________ of every year. | G9g® Ug gaq, uqd® oy
HATAT AET 21

Correct: 1 Wrong : 0

Options :

¢ 24th October | 24 S/FER
#® 20th October | 20 3R
# 15th October | 15 S/FER
#® 17th October | 17 SR

ol L B

Question Number : 5 Question Id : 3354727035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which Indian movie is India’s official entry to the Oscars 20187 | 7o YR Ter @ 3eat 2018 H IRT &1
STTEreRTiER Wiate wr?

Options

1. ¢ Newton | 924
2. ® Queen | FAN
3. ® Dangal | ET&
4. ® Golmal | e

Question Number : 6 Question Id : 3354727036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following comrnittees subrnitted the report to Supreme Court for reforms in BCCI? | didigtsmg #
¥ oy TgieiaT E%ﬁsz ey T & e i

Correct : 1 Wrong : 0

Options :

¥ R.M. Lodha Comrnittee | 3T.UA. @igT GiHTd

# M.N. Venkatchellaiah Comrmittee [ UA.04. deaerar GHa
# Santosh Hegde Committee | €319 312 |1

# Sunil Gavaskar Committee | Tel TMeew? Gl

ol L

Question Number : 7 Question Id : 3354727037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Name the one and only Marshal of the Indian Air Force who passed away recently. | WRd 14 g §T & UaHT
AT T A0 ST, T 3T &1 H e 51 T=m

Correct : 1 Wrong : 0

Options :

1. #® Subroto Mukherjee | gaal g@=i
2. ® Dilbagh Singh | Raem &g

3. ¢ Arjan Singh | R4 9E

4. ® 5P Tyagi [ Ta.dt st

Question Number : 8 Question Id : 3354727038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in India has the Dzogchen Monastery of Tibetan Buddhism been re-established? | fdead! ag o &
ST G 1 IR | Tl JHaeTiid foaT =T 87
Correct : 1 Wrong : 0

Options :

1. ® Sikkim | T&igw

2. ® andhra Pradesh | SITer megd

3. ¥ Karnataka | #icd

4. ® Himachal Pradesh | ZAm=w mear

Question Number : 9 Question Id : 3354727039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who has been appointed as the Chairman & Managing Director of Air India recently? | g 51 # Uz gieaT &
ey Ud vay Meaew & & | o Tags T mam?

Options :

1. #¥ Rajiv Bansal | TST a@a

2. ¢ Pradeep Singh Kharola | W& &g @iar
3. ® aAshwani Lohani | 1T @lgm=T

4. ® amitabh Kant | sifans &id
Question Number : 10 Question Id : 3354727040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year was Doordarshan established? | XEsi= & g fore o # g2 o7
Correct: 1 Wrong : 0

Options :
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1. ¥ 1950
2. ¥ 1953
3. ¥ 1956
4. ¢ 1959

Question Number : 11 Question Id : 3354727041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The majog] river that flows in Chhattisgarh and Odishais ________. | BTG S IS § ag- atelt ngE et

Correct: 1 Wrong : 0

Options :

1. ¥ Mahanadi | AgHar
2. ® Betwa | ddar

3. ¥ Narmada | FHaT
4. ® Godavari | MIERT

Question Number : 12 Question Id : 3354727042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Vindhyachal Thermal Power Station is located in which one of the following places? | FrATAET # 4 foog
I W fefeamaa e uTay €09 9T 87

Correct: 1 Wrong : 0

Options :

1. ¢ Singrauli | TETRET
2. ® Indore | &KX

3. ® Pune | 701

4. ®¥ Bhopal | ATA

Question Number : 13 Question Id : 3354727043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mai%c%%ce of water supply to the city of Indore is from _______ river. | SGIX I5T § UHET HT sTYid @ §ET Hia

Correct: 1 Wrong : 0

Options :
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1. ¢ Narmada | 9Har
2. ® Saraswati | GTHIdT
3. ¥ Khan | @4
4. ® Kshipra | fawr

Question Number : 14 Question Id : 3354727044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Sun Temple of Morena district is situated in _______. § AT e g AfeT L H T 2

Options :

1. ¢ Aeti | UST

2. ® Lehri | &g
3. ® Jaura | ST
4. ¥ Nurpur | T

Question Number : 15 Question Id : 3354727045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The farmous poet Makhanlal Chaturvedi was born in ______. | UTeg e TaHATe agaa] T 0
Correct : 1 Wrong : 0

Options :

1. ® Chhindwara | WgameT
2. ® Raisen | TI&T

3. ® Gwalior | TETerRK

4. ¥ Hoshangabad | g1meTg

Question Number : 16 Question Id : 3354727046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The famous wildlife sanctuary in Dewas is the

Correct : 1 Wrong : 0

Options :

1. ® Deer | B

2 ¢ Kheoni | @30T
3. ¥ Kanha | #TgT
4. ® van Vihar | a9 gR

Question Number : 17 Question Id : 3354727047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Narme the district situated towards north of Badwani. | aSa™1 & Ja¢ &1 3 & Fet @7 71 aaq1ga
Correct : 1 Wrong : 0

Options :

1. ¥ Dhar | aI®

2. ® Alirajpur | STERFYT
# Indore | 3ER

4. ® Khandwa | @gaT

w

Question Number : 18 Question Id : 3354727048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which one of the following rivers flows parallel to Narmada in Madhya Pradesh? { Az e # Fgiferd & & @9-4t
qET THET & GATET dgdl 57

Correct : 1 Wrong : 0

Options :

1. # Shipra | T

2. ¢ Tapti | T@T

3. ¥ Chambal | Tvaad
4. ® Ken [ &

Question Number : 19 Question Id : 3354727049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Kanchan Ghat is located across river _______ . [ FETET _____ TSI & UK O B
Options :

1. ¥ Chambal | T@a
2. ® Narmada | sdaT
3. ¢ Betwa | ddar

4. ® Yamuna | Ig-T

Question Number : 20 Question Id : 3354727050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The final match of the 2016-17 Ranji Trophy cricket tournament was held in_____. [ 2016-17 & 0T TG
Tepehe At T sifdm far ______ # st T mar am

Correct: 1 Wrong : 0

Options :
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1. #¥ Chattisgarh | FeETg

2. ¥ Madhya Pradesh | A2 nayr
3. ® Odisha | sifEam

4. # Mumbai | a8

Section Id : 335472214

Section Number :

Section type : OnlineMandatory or Optional: MandatoryNumber of Questions:
Number of Questions to be attempted:

Section Marks:

Display Number Panel: Yes

Group All Questions: No

General Maths and General Aptitude

Sub-Section Number: 1
Sub-Section Id: 335472214
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A fraction F becomes % when the denominator is increased by 4 and becomes —;when ifs

~

numerator is decreased by 5. Then F equals to: /Uh A F. % &7 Sdrg Ag g4 Hae™T

ST g AR %amsnar%aa SHHT 315 WHSATSI & d9F SHF TN &

Options :
12
o IS
1. 8
11
5 ® 19
11
o A%
3 ¥
13
4 8 21

Question Number : 22 Question Id : 3354727052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider the set {3, 4, 5, 6, 7, 8, 9}. From this select any subset of 3 elements. Multiply two numbers from the
3 element set and add the third number to it. What is the smallest number that you can get from all the 3
elernent sets? | FHFA {3, 4, 5, 6, 7, 8, 9} W IR &4 sad & 3 sragd! & fod! JUGgg &7 a9 4 34 3 s@dal &

o ST gl & U @ 3R IGH d 1 GEdT B A1) g% AYaH AT 747§ e 70§64l 3 sredl & 9ugd 9§ UH @ .
Correct: 1 Wrong : 0

Options :

1. ¥ 9
2. %10
3. % 15
4 v 17

Question Number : 23 Question Id : 3354727053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
If (x + 1) and (x — 2) are the factors of the polynomial p(x) =

x® —ax?+bx+ 6, then the respective values of @ and b are: /I1g R p(x) =x3—
ax?+bx + 6% & HEs (x+1) 3R (x —2)§ @ a I b & FATER A &

Correct: 1 Wrong : 0

Options :

® 3and 0 -3aR0
® 0and3 /033
® gand 06RO
v 4and 14371

ol L I

Question Number : 24 Question Id : 3354727054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is 23*-21—?/ 2%al AT B

= &)
- -
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Options :

-

1. %

A\

M
= ]
o MN

o
*

Question Number : 25 Question Id : 3354727055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ifaib=7 and ab=12. then\\fhatisl—%?/uﬁa-—b= 7 3T ab=12.2r l-% e
a a

Correct : 1 Wrong : 0

Options :

Question Number : 26 Question Id : 3354727056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad faiem
27,14, 32, 18, 39
Correct : 1 Wrong : 0

Options :

S

8 &
N M
(Y SN )

Ll
¢
Y,
¥

¢ 20

s
¢

Question Number : 27 Question Id : 3354727057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Ina triangle with one of the angles equal to 90°, two sides are given as 60 cm and 80 cm. What is
the length of the longest side? / Teh T¥hIOT H THTHT TH HIUT 90° & & §, &r SgGITU

FATER 60 FAT 3R 80 FAT & 15 &1 ridA o[ & FFTS FAT &2

Correct: 1 Wrong : 0

Options :

® 70cm | 70 94
® 90cm | 90 |HY
¢ 100 cm | 100 §HY
# 105cm | 105 |t

ol L

Question Number : 28 Question Id : 3354727058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

0.056x0.064x14.4 _
0.08X0.007X0.04X12

Options :
1. v 192

>

2 ® 192
3 ® 192
4 ® 0192

Question Number : 29 Question Id : 3354727059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 4x2 + 6x +1 =0, then (4x + 3)2 is: /TTE 4x2 +6x +1 =0, (4x + 3)2%:

Correct: 1 Wrong : 0

Options :
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® -1
® 1
V5
® 5

o

Question Number : 30 Question Id : 3354727060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

State what type of friangle it is, if the angles are 3x°, (2x+20)° and (3x 40)°. / I o7 3x°,
(2x20p 3T (5x-40)°§, o a0 &% Ig FE wHR & Heror 72
Correct: 1 Wrong : 0

Options :

# Right angled triangle | GAHIT FAHI0T
# Isosceles triangle | GAigaTg FwT
¢ Equilateral triangle | @raTg Bemiom
# Scalene triangle | fawwarg T

o S L

Question Number : 31 Question Id : 3354727061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There are 26 alphabets in English vocabulary. What is the probabilit of choosing a vowel from the set of

alphabets? | U Jegracit & 26 aUi g1 aUNl & GGz o U Ta & o gl @l WTTeRdT 2T 37
Correct : 1 Wrong : 0

Options :

® gi26
® 3114
® 265
¥ 5126

e

Question Number : 32 Question Id : 3354727062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If DANCE is coded as 52861, ANT as 283 and SAT as 723. What will 73285 stands for? | If¢ DANCE @1
52861 § ANT #1283 &, 3R SAT @I 723 & FiiSq TohaT WM 81 T 73284 TopaerT ud e gmT?

Options :
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1. ¥ TANED
2. ¥ DESNT
3. ¢ STAND
4. ¥ TANDS

Question Number : 33 Question Id : 3354727063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If %% of 140015 119, then x is equal to: | Ifg 1,400 FTx% 119 §, T x FHF aTel &
Correct: 1 Wrong : 0

Options :

1.-% 37
2 8 28
3.¢¥85
4 8 75

Question Number : 34 Question Id : 3354727064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio between the present ages of 4 and B is 2:3, respectively. If B is 4 years older than 4, then what will
be the ratio of ages of & and B after 4 years? | A 3B &I gd 04 1T & oief %1 SgUTT #OT 2:3 31 A B, A d4 a9
TSTe, T 4 T91 & WwaTd A 3B & slia @7 SIgUTd 47 gIm?

Correct : 1 Wrong : 0

Options :

1. ¥ 34
2 % 35
3. % 43
4. # None of the above | Iud® # & HIE 51

Question Number : 35 Question Id : 3354727065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 43 — 4x* + % + x2—x + 1 is divided by x — %%, then the remainder is . /T 4x° —4x* + %
+x-x+1 P x-%¥ Genfoa B arar g, o Avwa glam|

Correct : 1 Wrong : 0

Options :
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1% 3
2. 8 5
il
4 v 3
Question Number : 36 Question Id : 3354727066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : 0

Simplify: /T B

x+y+z2)(x+y—2)
Options :

x% +y2z22xy

1 8

TRyt Py
2. %

_ x24y2z342xy
3 ¢

, X tyizxly
4 %

Question Number : 37 Question Id : 3354727067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT an irrational number? | 749 # & smica e 19 df 751 37
Correct : 1 Wrong : 0

Options :

A2

4»/“’(Z

Question Number : 38 Question Id : 3354727068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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An empty rectangular tank with base area 2400 sq.cm is filled with water from two taps. One fills 12 litres of
water per minute and the other 8 litres per minute. After both taps are open for 6 minutes, what will be the

depth of water in the tank? | 2400 aTf dHT & TR FTG BT U b STIITHR el H ol Al & U1 9T TN T 9 ia
%ﬁ‘ 12 et 8 GET 1 8 #ie wid e St wRaT 31 6 1T qe ST el P! Goll Ta & Weld, Tel H uTH &1 Tgerg fpasr

Correct: 1 Wrong : 0

Options :

1. ® 7Scm | 75 |Hf
2. % 24cm | 24 |
3. ¥ 50 cm | S0 |
4. ® 100cm [ 100 gAY

Question Number : 39 Question Id : 3354727069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Five vears ago, the age of Lata was two times the age of Arun Ten years hence fromtoday, the
age of Lata will be g times the age of Anm. What is the present age of Lata? /9i< a¥ 9gol,

ST T 3 3EOT T W & QAT o) WS § EH a¥ G, W T AT AT Y
G A 2 AT QW) FA B qdAT G T B2

Options :

1. ¢ 20 years | 20 78
2. 8 22 years | 22 T4
3. ® 24 years | 24 T4
4 % 18vyears | 18 T4

Question Number : 40 Question Id : 3354727070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many prime numbers are there from 1 to 507 | 1 & 50 3% foha-i 3T §EI0 37
Correct : 1 Wrong : 0

Options :

1% §=
2. % 14
3, ¥'15
4. % 16
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Section Id : 335472215

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472215

General Hindi
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T et & -

Correct : 1 Wrong : 0

Options :

{\ )
S
)

A
&

Question Number : 42 Question Id : 3354727072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

WEd & diet ST aTet avll § g1 ATTHe )
Options :

LN

.-
4 %

o

Question Number : 43 Question Id : 3354727073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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FEI T 8 -
Correct : 1 Wrong : 0

Options :

1.v%
28 g

3. % 3
4 8 3

Question Number : 44 Question Id : 3354727074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Y T f -
Correct : 1 Wrong : 0

Options :

® Fide
Vg

w

LN

Question Number : 45 Question Id : 3354727075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

1. V&
4. ® gz

Question Number : 46 Question Id : 3354727076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

el T O g # @ a7 87

Correct : 1 Wrong : 0

Options :
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Question Number : 47 Question Id : 3354727077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Tl H AHA AT & o U e P H A B AT R?

Options :
1. ¢ S
2. ® Fe

AW

oI

Question Number : 48 Question Id : 3354727078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

W FT A dege Mg d g @ arg?

Correct : 1 Wrong : 0

Options :

1. ¢ U + @
2. ¥ 0T + T
3. ® 0@+ T
4. % 7T + ST

Question Number : 49 Question Id : 3354727079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘o T e geg MR G @ ATE?

Correct : 1 Wrong : 0

Options :

1. v gig
3. % g
4. ¥ gm

Question Number : S0 Question Id : 3354727080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

it JuE & 4T Jeg ME H A BT §?

Correct: 1 Wrong : 0

Options :
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1. ¥ geprar
2. ® 7T

. gitdie
4. ® Fmer

w

Question Number : 51 Question Id : 3354727081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘et sreg ® TG # & @9 |7 9HE 37
Correct: 1 Wrong : 0

Options :

1. % dcyey 9HT™d
2. ® gy anmE
3. ¢ ST 9aTg

4. ® gty gATg

Question Number : 52 Question Id : 3354727082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

i deg 51T ek ar et g d d @ ar 2

Options :
1. ¢ Rae-Race
3. % gagTgET

4 ® I3 AT

Question Number : 53 Question Id : 3354727083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ERIAT FT g ©F (G H T HIT AT 87

Correct: 1 Wrong : 0

Options :

AR
% <
ge

&

S
b3

TR T TTEAT

Question Number : 54 Question Id : 3354727084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“AICH T T AT AT 5H F Hi a1 87

Correct: 1 Wrong : 0

Options :
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S W
$ 8
7 o

Question Number : 55 Question Id : 3354727085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT TATH O €A F, 9= 38 T9-AR7

# 1 T SIFFR g We! e gu?

Correct: 1 Wrong : 0

Options :

1. ® U SEHT
. iida SEwT
® qUF ABR

soW N

Question Number : 56 Question Id : 3354727086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Eitehd geg & Tl @8t faay geg e &k &= &1 gid -
“Ug T &, Toeq SEQ et ________ 2

Options :

1.8 T &

& ® CRQ <

3. ® s

4. ¢ it

Question Number : 57 Question Id : 3354727087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

9 W g I TR 59 Ud Jeg § &7 gl -
Correct : 1 Wrong : 0

Options :

AW e
® 8 8

Question Number : 58 Question Id : 3354727088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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' 37 ' JUET T W AT AT E -
Correct : 1 Wrong : 0

Options :

1. ® &Rt or |
2. ¢ =9 & 9
3. ® e o anr
4. ® JumT g & 9T

Question Number : 59 Question Id : 3354727089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT 31 T U FA aTel eg, Feald o-
Correct : 1 Wrong : 0

Options :

Question Number : 60 Question Id : 3354727090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TRUTRHA a»rrmm—iaus ddsal
Correct : 1 Wrong : 0

Options :

1. ® =07 & FHA
2. ® HHa & =0T
3. ¢ FHA & GHT TR0
4. ® o7 3% FHA

Section Id : 335472216
Section Number : 4

Rural Economy and Panchayati Raj

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472216
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Majority a?f the total cultivated land area in India isunder _______ .| ORT ¥ T G T bl TS W & W SITEeRT AT

Correct : 1 Wrong : 0

Options :

1. #¥ Plantation crops | TS (FHRITUN) FEet
2. ® Cash crops | e BEwH

3. ¢ Foodgrain crops | Qe Bda

4. ® Oilseed cultivation | [dag= &1 @t

Question Number : 62 Question Id : 3354727092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ié;mich of the following is NOT source of funds for Panchayats? | THaieiad # & %19 a7 W=l & [0 o= &7 &9 751

Correct : 1 Wrong : 0

Options :

Tax assignment and Tax Sharing from Government | #T ALY 3T GTHR G T GISAT HAT
# Grants from government | &R & e

# Own tax and Non-tax revenue | &4 %€ 0d T T9Cad #T
. ¢ Loans from Nationalized Banks | TFaga Sl & 0

o L I

Question Number : 63 Question Id : 3354727093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%e an%?al audit of Gram Sabha accounts are to be done by whorn? | TUTH T & GTd1 &l a6 @iy e ZRT

Correct : 1 Wrong : 0

Options :
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1. ¥ Audit Committee of the Gram Panchayat | TTH F=TId & ¢1GT T gifia

2. ® auditor appointed by Janpad Panchayat | S-ug Toad gRT g% aamiig®

3. ¥ Independent auditor appointed by Gram Sabha | TTH 9T ZRT MgH Taad ol U
4. % auditor appointed by District Panchayat | FaT vamra gy ogw aamiges

Question Number : 64 Question Id : 3354727094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The prime objective of Farmer Producer Organizations FPO)is _______. { Toware FamiaT da=t (gwdiem @1 rga
T %1
Options :

1. ¥ To create employment [ TSR Gt FEAT

2: W a"_r%%nhance production, productivity and profitability of farmers | Traml & IcueH, IcuTEHEaT S ATIISAT

3. # To supply farming materials | F9 amal &1 amgfd & ey
4. ® Toincrease production | IeUE H g el HeAT

Question Number : 65 Question Id : 3354727095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Rice is grown mostly in which part of Madhya Pradesh? | e Uear & o 91T § §&I &0 & ITdel &l Qa1 &l ATd T 57
Correct : 1 Wrong : 0

Options :

1. #¥ Northern | 390
2. ¢ Eastern | i
3. ® Western | UpHT
4. # South | Figeft

Question Number : 66 Question Id : 3354727096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the rank of Madhya Pradesh in India in milk production as per 2015-16 data? | 2015-16 & 3fi@al &
HTielw T IeUTe # T & Hed WS BT F 1 7§ 7

Correct: 1 Wrong : 0

Options :

1.-% 3
2 82
3. 83
4 v 4

Question Number : 67 Question Id : 3354727097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who is known as ‘Indian Father of Green Revolution’ in India? | ¥Ra # ‘gRa ®iid & AR 17 UaT & &7 # fored Aam
ST 87
Correct: 1 Wrong : 0

Options :

1. ¥ anna Hazare | 3/FATEAR

2. ¥ Dr.M § Swarminathan | ST UH.UH. MRS
3. # Dr Vikram Sarabhai | 2T fawd Grrm

4. ® Kailash Sathyarthi | ¥ems geamdi

Question Number : 68 Question Id : 3354727098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following sectors was NOT included in Bharat Nirman Yojana? | afei@d # & #19 97 87 9Ra
Temfor 2o # anfier 981 87

Correct : 1 Wrong : 0

Options :

1. #® Irrigation | =g

2. ® Rural Telecom connectivity | Tiat # GTE=IR &1 GHi@ar
3. ¢ Education | T

4. # Rural Electrification | nmdior faegdteor

Question Number : 69 Question Id : 3354727099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

When was Deen Dayal Samarth Yojana started by Madhya Pradesh government? [ HEd NS 6 ERT &4 4T
qref AT T JE I TS7

Options :

1. ¥ 2 June, 2004 | 2 34, 2004

2. ® 1 August, 2004 | 1 37T, 2004

3. ¢ 25 September, 2004 | 25 fawR, 2004
4. ® 1 April, 2006 | 1 3@, 2006

Question Number : 70 Question Id : 3354727100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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After the recommendations of the Balwantrai Mehta Committee, Panchayati Raj was first inaugurated by
Jawaharlal Nehru in 1959at ________. | IACICTE HEdT FHET T TAETIS 37T & &g, FeTgt Ald 15 &RT Ugal aX 1959
o vt O @ ST o o T=m

Correct : 1 Wrong : 0

Options :

1. ¢ Nagaur | 907
2. ® Mysore | A
3. ® Rewa | Oar

4. ® Dispur | fegaqx

Question Number : 71 Question Id : 3354727101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

NABARD came into existence in the year_______. fAEE Ay o arfeaea # smam
Correct : 1 Wrong : 0

Options :

1. ¥ 1979
2. ¥ 1982
3. % 1969
4 ® 1972

Question Number : 72 Question Id : 3354727102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the major functions of the Panchayat Samiti isto _____. | T QT FE eI A @ _____ S
Correct : 1 Wrong : 0

Options :

1. ¥ Deal with administration of justice at the Panchayat level | U=lTad €a¢ UL +AT4% FITE & G197 §iaT

2. ® Deal with rural industrialization | TTHT 3T IE0T & R 2T

3. ® Deal with financial matters of the State | T & &1 ATAAT & @RI TiaT

4. ¢ Implement community development projects or schemes | QT [daTa T8I AT AITTSI @ @] FAT

Question Number : 73 Question Id : 3354727103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which is the funding authority for a%?c%i?an Mantri Gram Sadak Yojana (PMGSY)? | We=HAT UTH GS& AT

Options :
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1. # State Government | T4 GTHT

2. ¢ Central Government | %g GX@T

3. # Building & Construction Department | e+ 3T fawfor
4. # Zilla Parishad | e uftwg

Question Number : 74 Question Id : 3354727104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the followmg is NOT a reason for 1ncrease in agr1cultura1 output in Madhya Pradesh in the last
decade? | TUge Tuw H A2 WS § FIY Icued ¥ Ihg & o0 giaad § & &9 a7 TR0 751 57

Correct : 1 Wrong : 0

Options :

1. #® Extensive spread of irrigation | =g @71 s maR

2. ¥ Massive increase in rainfall | @87 # s/eae® Jhe

3. # Increase in power supply | fa=@! smgid & sger

4. ® Improved rural road connectivity | Tial @1 AIS Ao GS®! T TwTe

Question Number : 75 Question Id : 3354727105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in Madhya Pradesh is “Barli Development Institute for Rural Wormen” located? | Az Had § "&Tel| Saeqde
TECIEE B e i (UTH gigersit & fog e gem)” @ET T 87

Correct : 1 Wrong : 0

Options :

1. # Bhopal | ¥
2. ¢ Indore | &K
3. ® Gwalior | @R
4. # Jabalpur | JEeqR

Question Number : 76 Question Id : 3354727106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the periodicity of conducting agricultural census in the country? | 39 # Y TATET ST FC HT STETE
FT 57
Correct : 1 Wrong : 0

Options :
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® 12years | 1279
#® 10 years | 10 7d
¥ Syears | Sad
® 3years | 3 a9

-

Question Number : 77 Question Id : 3354727107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is NOT a variety of Soyabean cultivated in Madhya Pradesh ? | fogiai@a # & @iami &t
ﬁmumﬁfﬁ@aﬁmzxu%rﬁqﬁzﬁmaﬁ?

Correct: 1 Wrong : 0

Options :

1. #® Ahilya | affgeam
2. ® Alankar | SIERR
3. ® Indira | gfexT

4. ¢ Neelum | iaq

Question Number : 78 Question Id : 3354727108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich of the following is NOT a date on which meeting of G;‘am Sabhas in Madhvya Pradesh is required to be
invaéigibly convened? | Hed Ny # Togiatas & & @i 9t {37 751 8 Forad v awrsit &1 daw arfvard &7 8 ga @1 emaed
ELIRAL

Options :

1. ¥ 26th January | 26 J9ar

2. ¢ 18th May | 1878

3. % 15th August [ 15 3HT
4. ¥ 2nd October | 2 s/@geR

Computer Knowledge

Question Number : 79 Question Id : 3354727109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is a prermier institute which imparts training and undertakes research on rural

%evelopment in India? | FRERET § & #1997 0@ TG GCI & S ATA80 0T 9edT & % 9Ra H T e o7 e F7ar

Correct: 1 Wrong : 0

Options :
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1. #¥ National Rural Institute | FIHd & secIele

2. ® National Rural Development Organisation | S & Saauie ATiargaa

3. ¢ National Institute of Rural Development & Panchayati Raj | S99 §EIEE 1% & Sdadde US U=mad T T
4. # Rural Institute of Development | & SEIS HTh STATHS

Question Number : 80 Question Id : 3354727110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of Interest Subvention Scheme for farmers? | T T & o7 2T TETAT AT FT J58T FAT 57
Correct: 1 Wrong : 0

Options :

1. ¢ To provide short-term crop loans at an affordable interest rates | T€dT e gX1 U SIFUHTcIF B F0T U1

To charge more interest on loans | F0T U STEH s @7
To total waiving of interest on loans | UM U [T &4 F1Z AT
To collect penal interest | TS s AGA-T

oW
® 8

Section Id : 335472217

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472217
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Yottabyte (VB) is equivalent to: | RIS (YB) 50 aXla} 51dT &
Correct : 1 Wrong : 0

Options :

18th Dec 17 Shift 2



18th Dec 17 Shift 2

Question Number : 82 Question Id : 3354727112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Abytecan holdone __________ of data. | F amEe, SRTHFTF __________ T AT GEHaT Bl
Correct : 1 Wrong : 0

Options :

1. #¥ bit | fae
2. ® binary digit | ag= BT
3. ¢ character | #FeT

4. ® numeric | TgARRF

Question Number : 83 Question Id : 3354727113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ggcregdsheets, photo editing, PowerPoint, word docurments, etc, are example of: | @igdie, wiel iz, diatqamse,

STHgHT TH PT ISTEI0 &
Correct : 1 Wrong : 0

Options :

1. ¢ Application software | UUaTha= QTFeaR
2. ® Systern software | T4EeH |THeaaT
# Platform software | YATHIH QIFCaaR

4. ® OS software | 309 GTFcaaT

w

Question Number : 84 Question Id : 3354727114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Speakerisajan ________ device. | gl UF__________ EaEagaTa
Correct : 1 Wrong : 0

Options :
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1. ¢ output [ {TITYT
2. ® input | AT

3. ® mernory | HART
4. ® storage | GRS

Question Number : 85 Question Id : 3354727115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a computer language? | AT # @ @19 9 gw FHUE @ma 87
Correct: 1 Wrong : 0

Options :

1. ¢ JAVA | ST

2. ® Windows | f&gw

3. ¥ Android | USTIE

4. ® Mac OS5 | Ao nga

Question Number : 86 Question Id : 3354727116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Excel, “#VALUE" refers to: | UAUE Udd H, "#VALUE" 39 Ggi¥d #dl &
Correct: 1 Wrong : 0

Options :

# addition of value | AT &I

# Subscript of the number value | 3/ ATH HT GEHIC
¢ Error in value | I # Fi¢

# Font value | Bi-e da3

ol S R L I

Question Number : 87 Question Id : 3354727117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is an Excel chart? | FaAiaad # & F7 U Uhdd aTe g7
Correct : 1 Wrong : 0

Options :

# Table of Contents | & TH HeALd
#® Smart Art | GATE AT

¢ 3-DBar | 3-D @R

# Bookmark | gwHTE

o S L I

Question Number : 88 Question Id : 3354727118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Mozilla Firefox falls under: | AIAT BTORGIEH WA & SfaTid a7 &
Correct : 1 Wrong : 0

Options :

1. ¥ Compiler | FHUTZAT

2. ® [P Address | 3MEUT 029

3. ¢ Browser | T3¢

4. # Operating Systern | TR Raen

Question Number : 89 Question Id : 3354727119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
To move a copy of file from one co guter to another over a communication channel is known as: | Tt

TR T & HILEH & U FHIGES 9 T0d T BTeer i H1T, T FHGGEY H of ST (40 Fgermd’ g
Options :

1. ¥ File encryption | WTEa Qi-aqe

2. ¥ File transfer | BTEd ZTEHT

3. ® File modification | Tgd ANS heha

4. ® File copying | WTga ®1UT

Question Number : 90 Question Id : 3354727120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Portrait and Landscape mode are two types of ______. { Uige iR sleqau die, ______ & T UHR & I 3l
Correct : 1 Wrong : 0

Options :

¢ Page Orientation | U sitUey=
#® paper Size | U @15

# Page Layout | U #s3T

# page Color | U HaT

o L I

Question Number : 91 Question Id : 3354727121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

PDF stands for: | PDF @7 q0f €7 g1dT &:
Correct : 1 Wrong : 0

Options :

1. ® Platform dependent files | GeeHIH [2USTT BEAH
2. # Plain data files | Jei STET GEAT

3. ¢ Portable docurment format | Tiead STFgHE HTHS
4. ® Portable dependent format | Uiéad iSUaT BIHC

Question Number : 92 Question Id : 3354727122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the function of ‘Ctrl+l’ in MS Word? | TAUH a8 ®, Ctrl+] &7 FaT #1 glaT 57
Correct : 1 Wrong : 0

Options :

1. ¥ applies bold formatting for the selected text | Helgpe oY T THET F dlcts P oaT gl

2. ® Converts the selected text into the next larger size | dage 97 T THGT FI AT a2 ATFR H EAFRT FC a7 o)
3. ¥ Makes the selected text italic | Heigpe T7 T THET PI 3¢ el FT 4T Bl

4. ® Adds carriage return | Fie e AEdT 81

Question Number : 93 Question Id : 3354727123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is firewall? | BTIRaTd FT 37
Correct : 1 Wrong : 0

Options :

1. #® An established network performance reference point | U@ GG Scad Ao RBLT GaTEe &1 UTHTH FAT o)

2. ¢ Software used to isolate a private network from a public network [ SR HT SHIATA UF Uleerer Head &
UTEde Hedd: B ST He- § SHAATA %v—zrr

3. ¥ A virus that infects macros | U% IraCd T AF & G iHT BdT gl

4. # A predefines encryption key used to encrypt and decrypt data transmissions | Us Jd-aiRg T g,
FraerT sHauTe gy 8T ZTeT Fiaage # forar a8l

Question Number : 94 Question Id : 3354727124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A rmicrocornputer Consists of at least an input unit, an output unit, a ITllCI‘OpI‘OCGSSOI‘ unit,anda ______. | O

o T T T U T e, UF SIEET T, U WISHINTOER T 9T Uw e 2T 8
Options :
1. ¥ memory unit | AANT e
2. ® network | ATad
3. ® printer | fiizx
4. % stabilizer | AR

Question Number : 95 Question Id : 3354727125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When data is in list format, ________ can be used to regresent it neatly in MS Word. | 3 21T foigqe wiAe # 51, a9
ToE e ® T SHAATA 36 GUYT d 1 UK W idiq #ed & feld

Correct : 1 Wrong : 0

Options :
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1. ® Line Spacing | @Tg= qufeT
2. ¢ Bullets | goiT
3. ® Case Change | %9z
4. ® Sorting [ G

Question Number : 96 Question Id : 3354727126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_______ allows each participant contribution displayed on the screens to all outer taking part in the

conversation. | ______ T TG & HEANT & el UC 3 AT o Toid GAidT 3 A1 ga i T 0 Tgeder 8

Correct: 1 Wrong : 0

Options :

® Router | I

#® Host | /T
# Multicast back Bone (MBONE) | BefeeTae aw ai- (MBONE)
. ¢ Internet Relay Chat (IRC) | 2t e =iz (IRC)

e

Question Number : 97 Question Id : 3354727127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A& term relating to sending data to a satellite is known as: | U@ Seaise ®1 ST UNT 974 & Fatad J4g A &
Correct : 1 Wrong : 0

Options :

® Downlink | STATGE

# Modulate | Hisgee

i
2
3. ® Demodulate | EaTegeie
4. ¢ Uplink | smieie

Question Number : 98 Question Id : 3354727128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_______ characters. | UAUH g2 2007 #, BTEd UFac I &I e

Correct: 1 Wrong : 0

Options :

v 4
® 2

3

® 3
® 5

ol b
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Question Number : 99 Question Id : 3354727129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You have received mail from Mr. Karthik and the same mail has to be sent to Mr. Rajesh. Which option will you
select for sending the mail? | sl T, HTidw & Tar Hef NTT FSIT ST JHT Hel 1 SITURT 7, TR T 6T 81 SITORT Hel
% Toiy Torer Talepetd 1 =rae e gm?

Correct: 1 Wrong : 0

Options :

1. ® Reply | o

2. ® New | g

3. ¢ Forward | BaS

4. % Reply all | Ryag s

Question Number : 100 Question Id : 3354727130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Docurments can be stored in: | STHYHT BT GH GTR 04T AT T &

Options :

1. ® Drives only | % z=a

2. # Folders only | fad wiast

3. # Sub-folders only | Tk ga-wiasd
4 ¢ all of the above | IWIgHT T
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